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305 Jet-propelled disk
A 3.0kg solid, uniform disk has radius 0.25 m and can rotate Jet
horizontally about a frictionless axle through its center. A
small jet, which is attached 0.15€m from the center of the
disk, exerts a 4.0N force as illustrated. The aim of this ex-
ercise is to determine the angular acceleration of the disk.
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a) Write the rotational version of Newton’s second law.

b

) Determine the moment of inertia of the disk.
c¢) Determine the net torque acting on the disk.
)

d) Determine the angular acceleration of the disk.
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